GCSE Geography Homework
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(i)  Which region of Nigeria contains the most mountainous landscape?

A MNorth
B MNorth East
C South West
D West
Write the correct letter in the box.
[1]
(i) What style of graph would most clearly show how the relief changes from Abuja to
Lake Chad?
A Cross-section
B Horizontal bar
C Radial
D Scaftter
Write the correct letter in the box.
[1]

(b) Lagos is the largest city in Africa, with an estimated 21 000 000 people living in the city,
whilst the capital city of Nigeria, Abuja, has only 3 000 000 people living there.

What is the ratio 21 000 000:3 000 000 in its simplest form?
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